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Q.82) Which one of the following options is not 

correct with reference to Composite Digital 

Payments Index? 

a)  Reserve Bank of India has constructed the index. 

b)  It aims to capture the extent of digitisation of 

payments across the country. 

c)  It shall be published on a biennial basis. 

d)  The index was set-up with March 2018 as the 

base period. 

 

Q.83) With reference to the Economic Survey, 

consider the following statements: 

1.  It provides an outline of economic development 

for the next financial year. 

2.  It is prepared by the Department of Revenue, 

Ministry of Finance.  

3.  The first survey was presented in 1950-51.  

4.  The foundational theme of the survey is Ease of 

Living for all Citizens. 

Which of the statements given above are correct? 

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 2 and 4 only 

 

 

 

 

Q.84) Consider the following statements with 

reference to Monetary policy transmission: 

1.  It is the process through which policy action of 

the central bank is transmitted to meet the 

ultimate objectives of inflation and growth.  

2.  One of the reasons behind weak transmission is 

rigidity in saving deposit interest rates. 

3.  An increase in Cash Reserve Ratio would 

increase liquidity in the banking system. 

4.  Open-mouth operations can also influence 

monetary policy transmission. 

Which of the following statements is/are correct? 

a) 1, 2 and 3 only 

b) 1, 3 and 4 only 

c) 1, 2, 3 and 4 

d) 1, 2 and 4 only 

 

Q.85) In context of Land Titling System, consider 

the following statements: 

1.  Under the conclusive land titling system, land 

ownership is established on the basis of current 

possession. 

2.  Under the presumptive land titling system, land 

title is granted by the government. 

Which of the statements given above is/are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 


